# QUARTERLY ISSUES/PROGRAMS JANUARY, FEBRUARY, MARCH 2016

In Accordance with the Commission's Rules, the following represents problems and needs of the local community for the period noted above. They are not necessarily listed in order of importance. Each is addressed by significant public affairs and/or public service programming in response to those needs.

Placed in the WIXO Public File April 10, 2016

### WIXO QUARTERLY ISSUES & PROGRAMS LIST 1st QUARTER, 2016 JANUARY, FEBRUARY, MARCH

The Management of WIXO takes health & safety issues seriously and supports area events that can benefit the public. On-going programming is offered to inform and provide valuable information for area residents.

### AREA EVENTS AND PUBLIC RESOURCES

124 Announcements

### **HEALTH AND SAFETY**

140 Announcements

### LOCAL CHARITY SUPPORT

# WIXO JANUARY, FEBRUARY, MARCH 2016

| PROGRAM  | EVENT                 | # ANNC. | PER ANNC. VALUE | VALUE   | DATES RAN LENGTH    | LENGTH |
|--|-----------------------|---------|-----------------|---------|---------------------|--------|
| National Adoption  |                       | 40      | \$40            | \$1,600 | 01/21-01/31         | 09:    |
| ention & Visitors Bureau                                       | Upcoming Local Events | 38      | \$40            | \$1,520 | \$1,520 01/01-01/29 | 09:    |
|  |                       | 33      | \$40            | \$1,320 | \$1,320 01/01-01/09 | 30     |
| National Adoption  |                       | 100     | \$40            | \$4,000 | \$4,000 02/01-02/28 | 09:    |
| Peoria Area Convention & Visitors Bureau Uncoming Local Events | Upcoming Local Events | 42      | \$40            | \$1,680 | \$1,680 02/01-02/29 | 9:     |
| Peoria Area Convention & Visitors Bureau Upcoming Local Events | Upcoming Local Events | 44      | \$40            | \$1,760 | \$1,760 03/01-03/31 | 09:    |

### **QUARTERLY ISSUES/PROGRAMS**

### APRIL, MAY, JUNE 2016

In Accordance with the Commission's Rules, the following represents problems and needs of the local community for the period noted above. They are not necessarily listed in order of importance. Each is addressed by significant public affairs and/or public service programming in response to those needs.

Placed in the WIXO Public File July 10, 2016

### WIXO QUARTERLY ISSUES & PROGRAMS LIST 2ND QUARTER, 2016 APRIL, MAY, JUNE

The Management of WIXO takes health & safety issues seriously and supports area events that can benefit the public. On-going programming is offered to inform and provide valuable information for area residents.

### AREA EVENTS AND PUBLIC RESOURCES

81 Announcements

### LOCAL CHARITY FUND RAISING SUPPORT

# WIXO APRIL, MAY, JUNE 2016

| PROGRAM                                  | EVENT  | # ANNC. | PER ANNC. | VALUE   | PER ANNC. VALUE DATES RAN LENGTH | LENGTH |
|--|--|---------|-----------|---------|----------------------------------|--------|
| Ambucs                                   | Children's Charity Auction                   | 69      |           | \$2,760 | \$2,760 04/11-04/30              | 30     |
| Peoria Area Convention & Visitors Bureau | Upcoming Local Events                        | 40      | \$40      | \$1,600 | \$1,600 04/01-04/29              | 9:     |
| Ambucs                                   | Children's Charity Auction                   | 28      | \$40      | \$1,120 | \$1,120 05/01-05/05              | :30    |
| Peoria Area Convention & Visitors Bureau | Upcoming Local Events                        | 4       | \$40      | \$1,640 | \$1,640 05/02-05/31              | 9:     |
| 2016 Miss Riverhoffom                    | Fundraiser For River Clean-I In/Improvements | 87      | .\$40     | \$3 480 | \$3 480 06/07-06/21              | .30    |

# QUARTERLY ISSUES/PROGRAMS JULY, AUGUST, SEPTEMBER, 2016

In Accordance with the Commission's Rules, the following represents problems and needs of the local community for the period noted above. They are not necessarily listed in order of importance. Each is addressed by significant public affairs and/or public service programming in response to those needs.

Placed in the WIXO Public File October 10, 2016

### WIXO QUARTERLY ISSUES & PROGRAMS LIST 3rd QUARTER, 2016 JULY, AUGUST, SEPTEMBER

The Management of WIXO takes health & safety issues seriously and supports area events that can benefit the public. On-going programming is offered to inform and provide valuable information for area residents.

### AREA EVENTS AND PUBLIC RESOURCES

86 Announcements

### LOCAL CHARITY FUND RAISING SUPPORT

282 Announcements

### LOCAL CHARITABLE SUPPORT

|           | <u></u>   |  |
|-----------|---|--|
| - 00.00   | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0   |  |
|           | DATES RAN 07/27-07/29 07/01-07/29 07/01-07/29 07/02-07/15 08/17-08/31 08/01-09/23 09/01-09/23   |  |
|           | VALUE<br>\$480<br>\$1,600<br>\$2,120<br>\$1,880<br>\$2,560<br>\$3,440<br>\$2,760<br>\$4,240   |  |
|           | PER ANN STAN STAN STAN STAN STAN STAN STAN  |  |
| R 2016    | # ANNC.<br>12 40 47 47 47 46 64 47 46 69 69 69 69 69 69 69 69 69 69 69 69 69  |  |
| WIXO WIXO | EVENT Fundraiser For M.S. Research Upcoming Local Events Local Fund Raiser For Colon Cancer Cure Local Fund Raiser For Breast Cancer Cure Fundraiser For Childhood Disease Treatment Upcoming Local Events Middle School Classroom Monitary Grant Social Welfare Service Participation Fundraiser For Childhood Disease Treatment |  |
|           | PROGRAM M.S. Walk Peoria Area Convention & Visitors Bureau Michael's 5K Run For Life Bikers For Ta-Ta's St. Jude Walk 2016 Peoria Area Convention & Visitors Bureau MAC Grant Program Big Brothers Big Sisters St. Jude Walk 2016 St. Jude Walk 2016  |  |

\_\_\_\_\_

# QUARTERLY ISSUES/PROGRAMS OCTOBER, NOVEMBER, DECEMBER, 2016

In Accordance with the Commission's Rules, the following represents problems and needs of the local community for the period noted above. They are not necessarily listed in order of importance. Each is addressed by significant public affairs and/or public service programming in response to those needs.

Placed in the WIXO Public File
January 10, 2017

### WIXO QUARTERLY ISSUES & PROGRAMS LIST 4th QUARTER, 2016 OCTOBER, NOVEMBER, DECEMBER

The Management of WIXO takes health & safety issues seriously and supports area events that can benefit the public. On-going programming is offered to inform and provide valuable information for area residents.

### AREA EVENTS AND PUBLIC RESOURCES

---- 80 Announcements

### **HEALTH & SAFETY**

99-Announcements

### LOCAL CHARITABLE SUPPORT